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Q1:.

b.

Q.2:.

b.

Mark(s): 0/5
continuouely through the biosphere. fgad) DA
What does the number (2) refer to? H2) Al pdu e
Denitrifying bacteria O jritl) Al Ly
N Atmospheric nitrogen gsad) GO A Cymg sl
Nitrifying bacteria a5l Ly
i Soil nilrates Al o i
Mark(s): 0/5
The figure below is an illustration of the phosphorous cycle. < ghuall) g1l (D ) oy olial Jedii
What do the letters (C) and (D) represent? T(D] 3 (C) el i ik
(B): Precipitates and (C): Decomposers cadll :(C) g cady iz (B)
: (B): Phosphates in solution and (C):Rocks and minerals  sladlly jiuall (C) g lall B 013 iy = (B) ;

(B): Rocks and minerals and (C):Phosphates in solution

el il g (C) 5 oladly sl : (B)

(B): Decomposers and (C): Precipitates

».I.I..J,ﬁl I(C), Sl (B)




Q.3:. Mark(s): 0/5

The graph below represents the population growth of o ol o Al dsla ey au‘,;t,_.n pei )
mice over lime, What does the letter (A) refer lo? ?(A) Al ,.‘._.‘;a!l "

Exponential Population Growth
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b. Acceleratlion phase golall el
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1 ¥ 1
c! Exponential growth E,....‘;"I gandl i
L T T T T |
d.| Straight-line growth mall sl
Q4:. Mark(s): 5/5
Based on your study of the concept of Ecology, Calial 5 gual) JiaS 13l cAiid) ale g pgdal iyl |aliied

what does the picture below represent?

.. Population ailal) dcles
b Biosphere Soim Dk
.| A biome Al aulsl

d.i Ecosystem P :



Mark(s): 5/5

Q.5:.
Which organisms of the food web below contain A0S i gya oliol A ASLEN fpe dpal) Sl g
the greatest biomass? vaglal
Hawks and sy shoa
et owls
ice oinar Seed-eating
birds
/ -
[] "
a Mice b aal
(LI LY L Ly r sy r Yy Iy I Yy I Y T VY Y Y I ITAC LT L]
i i
b.i Green plants elyaall Sobblall
o o H
c Rabbits oty
d Foxes et
Q.6: . Mark(s): 5/5
Study the table below, which shows population growth e A) gl e Gy (g3 colial Jgaalt sl
rates in some countries, and then answer the question: el oo sl Al sl
Which of the following countries will become one of the Clgiaall 8 Tpai Jgall Ul coa gestion 300 J 50 G0 6]
slowest growing countries in the next years? Saaslat
| Popuiation growth AL et e
Sty rate (percent) g 1)
Indenesia 118 1.18 Lanasl )
Afghanistan 263 2,63 i
Bulgaria -081 -0.81 L
Niger 2.88 2.88 e
United States 0.88 0.88 Faadadl kg ol
Germany -0.04 - 0.04 dleall
a Afghamistan emg United states == Indonesia mspNiger sl gmm as) emm saandl DUV gm0 Sladl
b United states ==p Afghanistan ==p Indonesia ==p Niger il g Liigad) gmm U Sladl e Saadiall SN

C.

Indonesia m=p Afghanistan e=p Niger==p United states

aalall LWl g il g G ledl g gl




Q7:.

Q.8:.

Mark(s): 5/5

Which of the following organism follows an r-strategy £ A8 -1 Lauliul san L0H dall LS Ga g

for reproduction?

W - |

Fa

(A) (B)

In the figure below, which of the following are 433 & ugall Jalpll (e s Las g colidd Jo21 3

considered as heterotrophs biotic factors? Tasall

Mark(s): 5/5

Cand D D C

Aand C C A




Q.9:.

Mark(s): 5/5

brown-headed cowbirds rely on other bird species to build their
nests and incubate their eggs. This is an example of ...............

o Al gl e G R e s
.................. A T 1 Bl adie]

a.| Internal parasitism

sl Jakal

P L]

) )
b'i Competition Llaal Jals j
c.| Mutualism imdre Jala

d.| Brood parasitism

Q.10:. Mark(s): 5/5
The figure below shows dispersion of a population within an iBassa uknql Abal! Slelad i pigl e ald A0
area. study it and then answer the guestion: gl oo il o ayd
Which letter{s) of the foll g indicat if dispersion? B (P ha{n.i‘.all:-ui,:,j
(A) (8} ()
a Only C s C
P e e e e e e e e e e e NN AN NN NN NSNS s s SSSENSSsEEssEsSSEEsSsEEssssee "
i < i
bt Only A Le Ao
. H
c Aand B By, A
d.| BandC Cc,B




Mark(s): 0/5

Which of the following might increase the human carrying CAD A Lot At s ) Bl sy 8 LI Jalght o gl
capacity during the twenty-first century? f ety gl

Family planning strategies Abilall achais Sileasln)

1

| Changing reproductive patterns 4 pisal Lataiyl Al g
1 1
[

Widespread fatal diseases S Aaly ASEEN _calpaY

New technological advances Baasall daa gl giSull Sl edanll

Q. Mark(s): /5

(Whah pat of he Bag am bews walen b cation morng | oo 2 gae ﬂﬂu‘-ﬂ'mh*"hﬂtb.ﬂf
Wars on abinls 10 8 pata paid of Bw ssnngeion’ ¥ D i
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a| Volcanic activity A Ll

p| Dissolved CO el o KN sl s
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el Fuel combustion Py G
S e A S S S R SN R RS S A A S S S R N R AR A T A N NN SR NS R S SRS S S SRR RS TSR

i
"i pr\O‘O‘Yﬂfh!‘l& f,.‘n .ul

e e e e e S e e e e e SN S R RS



Q.13:. Mark(s): 5/5

In the photo below, what term best describes the 134 heay] caliall pllaaall L olial Jein s'é
bee's role of gathering pollen? ST g s b Al

a.| Parasite Geila

b. Habitat i Olase

c Fiedalor ke
3 i

d.i Niche pe adsa |
L T T T

Q.14:. Mark(s): 5/5
The figure below is an illustration of the water cycle. colal) Bl asingt aus e olial J22l

What do the letiers (A) and (B) represent? ?(B)s(A) iad Jia il

e
1
a.i (C): Precipitation and (D): Transpiration = (D) 5 Jskell = (C)
o
b (C): Transpiration and (D): Precipitation Jshaghl (D) 5 =t : (C)
(C): Transpiration and (D): Evaporation sl (D) ol (©)
[




Q.15:.

Which of the following processes locks phosphorus in a

long-term cycle?

Sisaall dligh 3100 B ) ghoagill Qa0 dtaal) L

Mark(s): 0/5

Phosphates released into the soil

L) ) byl Jli

Organic materials buried at the bottom of oceans

Cllanall g8 3 dguaal) dlgall paba

Q.16:.

Rain eroding mountains

ey sl dupes

Based on the table below, which letter of the following corresponds to the
correct definition of carrying capacity?

i e Lan i gl ol Jgand ) i
il B lagas L e

calis Baag J5 A el SLGEY e
A ’
The number of organism per unit area.
i Al el Ly ey Ll A e
The ber of individual g away from a population.
¢ el Aeluadl ) Gy Ll A s
The number of individual ing into populati
B gl gl e aad s dil) puli L pgd a8 e e 8
The maximum number of individuals in a species that an envirenmaent can support for the long term

Mark(s): 0/5

A




Q17:. Mark(s): 5/5

Which of the following is an example of omnivores? $AL5AIN Eylia IS Ao YU da A L &
a.| Snakes ulatill
p.| Wolves s
| Mockingbirds SSlaall il :
e 4
d.| The eagles gl
Q1s:. Mark(s): 5/5
Use the graph below to answer the question: sl e dalanid e e ]
Which of the following is a characteristic of the age Colial pruagall (Granll (LN alliad e é‘i
structure shown below?
FEELER
Rapid Growth ‘
a P ol
. Slow Growth ¢l gal
T N e T 3
e Zero population growth JE g g :



Negative Growth e sa

d.
Q.19:. Mark(s): 5/5

The United States has birthrate of 4.1 (per 1000), (1000 J<) 14.1 Saaialt Sl & adigall Jona gl
death rate of 8.3 (per1()i()), and migration rate of 2.9 Sagh Jaag (1000 J&) 8.3kagh Joay
2.9 (per [000). What is the population growth rate? A gl Jana L (1000 J3)

a. %0.87 .

b, %0.68

. %053




Q.20: . Mark(s): 5/5
Lemmings are mammals that produce offspring in A e 58 el JSlsm c.l“.ﬁwn gl e of
large numbers when food is plentiful. When the food s lada maad) Sipas o A 138 el lasie s sl
supply diminishes, lemmings starve and many die.  aylsAt is.haf.-_unqﬁ A ok Laa Jals Ji
Which of the following factors infi es L
population size?
L e H
a. Competition olal :
p,| Disease ad
.| Parasites i
4| Predation oyl
Q.21:. Mark(s): 0/5
What does the below figure represent? valial il aic s “‘:ﬂ! La
15 gém?
. Pyramid of Energy alall 5
I o o NGNS S S NGNS EaEE e nan -:
1 . .
b Biogeochemical cycle Ll Lialpuall 551 ;
Pyramid of Biomass iy 4<Y »
C.

Pyramid of Numbers

A p A




Q.22:. Mark(s): 0/5

Based on your study of the concept of Ecology. Calia) By goall a3 Vile cilad) ale apgial il taling)

what does the picture below represent?

Population LlaY el
ofBosphee e
.| A biome Sl ol
4| Community J"‘“""C""""‘




